## **Price Schedules**

End-User	Item				Unit of		Budget for the (ABC), in PhP	Bidder's Price & Offer		
Unit (EUU)	Number	Name of Goods (Items)	Description	Qty.	Issue	Unit Cost	Total Cost	Offer	Unit Cost	Total Cost
University Health Services (UHS)	MEDICAL	AND DENTAL EQUIPMENT								
	1	SPINE BOARD	With Body Strap (Light to Carry)	1	unit	13,200.00	13,200.00			
	2	COMPRESSOR NEBULIZER	230 F61V, 60 Hz Weight: Approx. 1.9 kg (compressor only) Dimension: Approx. 170 (W) x 103 (H) x 182 (D) mm Power Consumption: 138 VA Nebulizer Rate: 0.4 ml/min (without compressor) Contents: Compressor, Nebulizer Kit, Air Tube, 5 pcs. Replacement Filters, Mouthpiece, Adult Mask, Child Mask, Carrying Bag, Instruction Manual	1	unit	3,500.00	3,500.00			
	3	DENTAL STORAGE CABINET	2-Door; Size: 27" (L) x 13 (W) x 18" (H)	1	unit	15,000.00	15,000.00			
	4	DENTAL STOOL	With five (5) sturdy caster wheel, sturdy backrest and metal base	1	unit	4,730.00	4,730.00			
	5	DENTAL CHAIR	With Dental Stool; Light Cure; Air-Compressor; Ultrasonic Scaler; High Speed and Low Speed Handpieces	1	Lot	247,316.67	247,316.67			
						Sub-total, PhP	283,746.67			
cience Laboratory Services (SLS)	VARIOUS :	SETS OF EQUIPMENT FOR PHYS	BICS LABORATORY							
	6	FORCE TABLE	Consisting of the following: (1) Force Table (1) Support Bar (1) Bracket (Set 4) Mass & Hanger: (Set of 4) Mass - 500 GMS (Set of 4) Hanger - 50 GMS (1) Center Pole (1) Built-in Scale (4) Force Table Pulley (1) Concurrent Force String (1) Non-Concurrent Force String (6) Plug & Steel ball (1) Non-Concurrent Disk	3	unit	35,760.00	107,280.00			
	7	MECHANICS DEMONSTRATION KIT	With the following minimum specs per set: Fixed Pulley	3	unit	48,980.00	146,940.00			

End-User	Item	Name of Goods (Items)	Description	Qty.	Unit of		Budget for the (ABC), in PhP	Bidder's Price & Offe		Offer
Unit (EUU) N	Number	Name of Goods (Items)	-	uty.	Issue	Unit Cost	Total Cost	Offer	Unit Cost	Total Cost
			Free Pulley - Single							
			Free Pulley - Double							
			First - Type Lever Second - Type Lever							
			Third - Type Lever							
			Balance							
			Wheel and Axle							
			Gear Set							
			Incline							
			Pendulum							
			Three Forces Equilibrium							
			Hooke's Law Friction							
<b>├</b>										
			With the following minimum specs per set:							
			(1) Free Fall Base (2) Free Fall Bracket							
			(1) Electromagnet							
	8		(1) Target	3	unit	31,750.00	95,250.00			
	-		(1) Photogate Electronic Timer		•	21,100111				
			(3) Photogate							
			(1) immovable Holder							
			(1) Steel Ball							
			With the following minimum specs per set:							
			(1) Base							
			(1) Cannon Bracket							
			(1) Cannon							
	9	PROJECTILE MOTION	(1) Steel Ball	3	unit	65,180.00	195,540.00			
			(2) C-Shaped Clip			·	·			
			(1) Cannon Rod							
			(1) Free Fall Set							
			(1) Laser Set							
			(1) Digital Photogate Timing System							
			(1) Shooting Target							
<b>├</b>			With the following minimum specs per set:							
	10	FRICTION EXPERIMENT	(1) Experimental Platform	3	unit	43,950.00	131,850.00			
			(1) Spring Balance Fixer		uill	+0,000.00	101,000100			
<i>i</i>			(2) Hoop Fixer	I						

End-User	Item	Name of Goods (Items)	Description	Offic	Unit of		Budget for the (ABC), in PhP	Bidder'	s Price &	Offer
Unit (EUU)	Number	Name or Goods (items)	Description	Qty.	Issue	Unit Cost	Total Cost	Offer	Unit Cost	Total Cost
			(1) Power Transmission Device (1) Spring Balance (1kg) (3) Friction Panel (1) Friction Loading Box (1) DC Power supply (3) Strip Weight							
	11	CENTRIPETAL FORCE	With the following minimum specs per set: (1) Centripetal Force Base (1) Aluminum Platform Scale (1) Speed Regulator	3	unit	72,846.00	218,538.00			
			(1) DC Power Supply (9V) (2) AV Connection Cable (1) Level Indicator							
			(1) Movable Connector (8) Pulley							
			(1) L-shaped Weight Holder 25g (1) Weight 10g (1) Rotating Body 100g (1) DC Motor							
			(1) Drive Belt (1) Rotating Body Hanger							
			(1) Centripetal Force Indicator (2) Adjustable Feet (1) Balance Weight (1) 60-Grid Fence							
			(1) Photogate (1) Photogate Electronic Timer							
	12	MECHANICS OF LIQUID DEMONSTRATION KIT	With the following minimum specs per set: (1) Water Tank Stand (1) Rectangular Water Tank	3	unit	45,450.00	136,350.00			
			(1) U-Tube Manometer (1) Liquid Pressure Indicator (1) Liquid Top Pressure Observation Device							

nd-User	Item	Name of Goods (Items)	Description	Qty.	Unit of		Budget for the (ABC), in PhP	Bidder's Price & Office		Offer
nit (EUU)	Number	Name of Goods (Rems)	Description	Qty.	Issue	Unit Cost	Total Cost	Offer	Unit Cost	Total Cost
			(1) Parallel Acrylic Tubes							
			(1) L-Type Glass Tube							
			(1) S-Type Glass Tube							
			(2) Acrylic Prop							
			(1) Clamp with Hook							
			(1) Soft Tube (3) Density Cylinders (the same volume)							
			(3) Density Cylinders (the same mass) (1) Bouyancy Cylinders (density more than 1)							
			(1) Bouyancy Cylinders (density filore than 1)							
			(1) Archimedes' Cylinder							
			(3) Capillary							
			(1) Capillary Holder							
			(1) Glass Plate							
			(1) Glass Plate with Grids							
			With the following minimum specs per set:							
			(1) Experimental Base							
		(1) A (3) (6) (7) (7) (7) (7) (7) (7) (7) (7) (7) (7	(1) DC Power Supply							
			(1) Removable Connector							
			(1) Attached Connector Hook							
			(1) Electronic Thermometer	3	unit	35,250.00	105,750.00			
			(1) Support Rod			35,250.00	105,750.00		Unit To	
			(1) Attached Connector Spring Balance							
			(1) Friction Surface							
			(1) String							
			(1) Stopwatch							
			(1) Experimental Manual							
			(1) Double Heating Device							
			(1) Experimental Bracket and Base							
	14	DETERMINATION OF SPECIFIC	(1) Calorimeter							
		HEAT OF METAL	(1) Measurable Metal	3	unit	37,500.00	112,500.00			
			(1) Silica Gel Tube							
			(1) Steam Heating Pot							
						Sub-total, PhP	1,249,998.00			

End-User	Item	Name of Goods (Items)	Description	Qty.	Unit of	Approved Budget for the Contract (ABC), in PhP		Bidder's Price & Offer		
Unit (EUU)	Number	Name of Oods (items)	Description	diy.	Issue	Unit Cost	Total Cost	Offer	Unit Cost	Total Cost
	15	SHORTWAVE DIATHERMY	Continuous (400 W max) and pulsed output (1000 W max)  Disc electrodes (85 mm with spacer) and rubber electrodes (15x25 cm) adjustable electrode arms (Length: 93 cm), mobile/easy to move  Generator Frequency: 27.12 MHz  Pulse duration ca. 400µS  Pulse Repetition Frquency: 15-200 Hz  Neon checklight	1	unit	750,000.00	750,000.00			
	16	THERABAND EXERCISE MATS	Blue mat; 75 in x 6 in	3	unit	9,500.00	28,500.00			
	17	ELECTROTHERAPY UNIT	Portable 2 channels with preprogrammed positions for ES, TENS and FES Programmable settings; high intensity 2 high quality patint cables 4 electrodes Rechargeable with battery pack Battery charger With LCD Screen Max pulse duration 400µS Max frequency 120 Hz Timer 1-99 min	1	unit	40,000.00	40,000.00			
	18	ULTRASOUND MACHINE	2 multi-frequency treatment heads (1 and 3 MHz) Continuous and Pulsed Pulse Frequency: 16 Hz. 48 Hz and 100 Hz 0-2W/cm2 continuous: 0-3W/cm2 pulsed Number of US connections: 2 ERA US applicator large: 5 cm2 ERA US applicator small: 0.8 cm2 Pre-programmed treatment Touch Screen With rechargeable power supply	1	unit	250,000.00	250,000.00			
	19	INTERFERENTIAL CURRENT THERAPY UNIT	Quadripolar interferential Rubber electrodes 6x8 cm. 2 mm female, 2 pc Moist pads for rubber electrode 6x8 cm. set of 4 Patient Cable 2-core and 2 mm male plug; Straps	1	unit	220,000.00	220,000.00			
	20	INFRARED RADIATION UNIT	Floor Model Easy Maneuver Dial Control	1	unit	65,000.00	65,000.00			

End-User	Item	Name of Goods (Items)	Description	Qty.	Unit of		Budget for the (ABC), in PhP	Bidder's	s Price & (	Offer
Unit (EUU)	Number	Name or Goods (Items)	Description	Qty.	Issue	Unit Cost	Total Cost	Offer	Unit Cost	Total Cost
			Durable Quiet Timer Covered Lamp as a plate for protection against heat							
	21	FOOTSTOOL	5-6 in height; metal with rubber tips	6	unit	3,000.00	18,000.00			
	22	NK TABLE	Exercise table with two torque arms	1	unit	65,000.00	65,000.00			
	23	ULTRASOUND AND ELECTRICAL STIMULATION COMBO UNIT	Ultrasound and electrical stimulation combo 2 Channels for ES 2 Frequencies for US (1 and 3 HHz)	1	unit	250,000.00	250,000.00			
	24	ANKLE WEIGHT	2.5 lbs.; Velcro strap with loop closure	1	unit	1,500.00	1,500.00			
	25	ANKLE WEIGHT	5 lbs; Velcro strap with loop closure	1	unit	2,200.00	2,200.00			
	26	ANKLE WEIGHT	10 lbs; Velcro strap with loop closure	1	unit	2,900.00	2,900.00			
	27	ANKLE WEIGHT	15 lbs; Velcro Strap with loop closure	1	unit	3,500.00	3,500.00			
	28	ANKLE WEIGHT	20 lbs; Velcro strap with loop closure	1	unit	4,200.00	4,200.00			
	29	PARALLEL BARS	7 ft. folding parallel bars	1	unit	70,000.00	70,000.00			
	30	POSTURAL MIRROR	Single Mobile Mirror Overall Size: 28" W x 75" H, including casters	1	unit	45,000.00	45,000.00			
	31	STANDARD CRUTCH	Adjustable Aluminum (5′2" to 5′10") Comfortable underarm pads with foam handgrips	1	pair	4,000.00	4,000.00			
	32	FOREARM CRUTCH	Adjustable Aluminum Minimum Distance handgrip to floor: 26" Maximum distance handgrip to floor: 37" Comfortable foam handgrips	1	pair	5,000.00	5,000.00			
	33	WALKER	Without Wheels Adjustable Aluminum (32" to 39") Folding Walker Contoured Vinyl Hand Grips	1	unit	8,500.00	8,500.00			
	34	QUAD CANE	Adjustable Aluminum (29" to 38") PVC Handgrip	1	unit	2,500.00	2,500.00			

End-User	Item	Name of Goods (Items)	Description	Qty.	Unit of		Budget for the (ABC), in PhP	Bidder'	s Price &	Offer
Unit (EUU)	Number	Name or Goods (items)	Description	<b>.</b>	Issue	Unit Cost	Total Cost	Offer	Unit Cost	Total Cost
	35	SINGLE TIP CANE	Adjustable Aluminum Off-set Handle Comfortable Grip Non-slip rubber tip	1	unit	2,500.00	2,500.00			
	36	WHEELCHAIR	Manual Aluminum Folding Frame Non-adjustable back rest Removable arm rests and leg rests Elevating Swing-away leg rest Non-pneumatic wheels and casters	1	unit	15,000.00	15,000.00			
	37	STATIONARY BIKE	Recumbent Front Rollers for easy portability Comfortable pedals with straps Built-in hand pulse sensors for heart rate monitor Sturdy Tubular-steel frame construction Adjustable resistance With preset programs and manual mode Adjustable seat Flexible seat Maximum wt capacity: 350 lbs With control panel Magnetic resistance	1	unit	55,000.00	55,000.00			
						Sub-total, PhP	1,908,300.00			
College of Medicine (CM)	MEDICAL	EQUIPMENT FOR MEDICIN	E LABORATORY EXERCISES, RESEARCHES AND ACT	<b>FIVITIE</b>	S					
	38	MICROCENTRIFUGE	For separation of biological Mixture for Molecular Biology Experiments  - 1.5/2.0 ml Tube capacity  - 24-place rotor  - Max 12000 rpm	1	unit	80,000.00	80,000.00			
	39	HEAT BLOCK	To incubate reaction Mixture for Molecular Biology Experiments  - 1.5/2.0 ml Tube capacity  - 48-place design  - Up to 150°C Temperature Range  - 0.1°Increment	1	unit	50,000.00	50,000.00			

End-User	Item	Name of Garde (Manua)	B dudin	24-	Unit of		Budget for the (ABC), in PhP	Bidder's Price & Offer		
Unit (EUU)	Number	Name of Goods (Items)	Description	Qty.	Issue	Unit Cost	Total Cost	Offer	Unit Cost	Total Cost
	40	VORTEX TUBE MIXER	To Mix the reaction Tubes prior Centrifuging - 2000 RPM (ROTATION PER MINUTE)	1	unit	15,000.00	15,000.00			
	41	pH METER	To prepare Reagents with accurate pH requirements - 0.1% Accuracy - Portable	1	unit	30,000.00	30,000.00			
	42	PIPETTOR SET	To transfer accurate Volumes or Reagents in Molecular Biology  For the two (2) units, the specifications shall be all offered  - 0.2µ to 2µL  - 2.0µL to 20µL  - 20µL to 200 µL  - 100 µL to 1000 µL  - Pipette Stand	2	unit	40,000.00	80,000.00			
	43	GEL DOCUMENTATION SYSTEM	- To Visualize the Gel from Electroporesis - UV Transilluminator - Image Dark Box - Gel Imager Camera - With Desktop Computer System	1	unit	150,000.00	150,000.00			
	44	UV-VIS SPECTROPHOTOMETER	- Use in Quantity determination of Various Biological and other Compounds in the Ultraviolet and Visible range of Light Spectra  - Optics: Split-Beam  - Quartz-coated Optics  - Wavelenght Range: 190-1100nm  - Wavelenght Accuracy: ±1.0nm	1	unit	200,000.00	200,000.00			
	45	STORAGE FREEZER FOR MOLECULAR BIOLOGY	- To store various Reagents in Molecular Biology and store different samples and PCR products  - Freezer Compartment at least -20°C  - Refrigerator Compartment at least 0 - 4°C	1	unit	30,000.00	30,000.00			
	46	BINOCULAR MICROSCOPES	- LED Main Body; Mechanical Stage Right Handle; Supplied with Field Lens Unit vinyl cover; Binocular Eyepiece; Oil Immersion Spring- Loaded (FOV18); Anti-Mould Agent; High Luminiscent White LED Illuminator (Eco-illumination)	10	unit	60,000.00	600,000.00			

End-User	Item	Name of Goods (Items)	Description	04.	Unit of		Budget for the (ABC), in PhP	Bidder's	s Price &	Offer
Unit (EUU)	Number	Name or Goods (items)	Description	Qty.	Issue	Unit Cost	Total Cost	Offer	Unit Cost	Total Cost
	47	ADVANCE TEACHING SYSTEM	Description:  Contain hardware and software to be used to conduct various experiments essential for topics such as in breathing, respiratory, Blood Pressure, ECG, Muscle and many more.	2	unit	1,200,000.00	2,400,000.00		OUST	COST
			Systems Include: PowerLab 26T has up to four general purpose inputs, human approved Dual Bio Amp, variable, analog voltage output and a human-approved isolated stimulator.							
			<ul> <li>Lab Chart Teaching Suite Software</li> <li>Pulse Transducer</li> <li>5 Lead Shielded Bio Amp Cable</li> <li>Shielded Lead Wires (5 snap-on)</li> <li>Stimulating Bar Electrode</li> </ul>							
			BNC to DIN Smart Adapter (2)     Respiratory Belt Inducer     Grip Force Transducer     Sphygmomanometer     Cardio Microphone Headphones							
			<ul> <li>Cardio Microphone; Headphones</li> <li>Push Button Switch, Dry Earth Strap</li> <li>EFG Flat Electrodes</li> <li>Reusable ECG Electrodes</li> </ul>							
			<ul> <li>Disposable ECG Electrodes</li> <li>Abrasive Gel, Electrode Cream</li> <li>Electrode Paste, Alcohol Swabs</li> <li>Teaching System Case</li> </ul>							
			PTK 10 Human respiratory Kit Spirometer Pod (signal amplifier) Respiratory Flow Head (+/-1000 L/min) Clean Bore Tubing with Tubing Adapter							
			* Student Disposable respiratory Kit • 1 Set MLA 304 Disposable Filters for Respiratory Kit (50s/pack)							
		EXERCISE PHYSIOLOGY KIT FOR ADVANCE TEACHING	Use for conducting respiratory gas analysis and metabolic measurements in student laboratories investigating the effects of exercise	1	unit	1,500,000.00	1,500,000.00			
		SYSTEM	●Gas Analyzer, Gas Mixing Chamber ●Respiratory Flow, Spirometer ●Face Mask Kit (Adult, Small & Medium)							

End-User	Item	Name of Goods (Items)	Description	Qty.	Unit of Issue	Approved Budget for the Contract (ABC), in PhP		Bidder's Price		Offer
Unit (EUU)	Number	Name of Goods (Items)	·	4.9.		Unit Cost	Total Cost	Offer	Unit Cost	Total Cost
			Flow Head Adapter, Tubing Adapter     Breathing Tube, Dessicant Cartridge     Silicon Tubing (1mm I.D., Length: 30cm) with Luers (x2)     Metabolic Module (Windows and Macintosh)							
	49	ANALOG INTERVAL TIMER CONTROLLER	- Timing Mode: Single Event - Accuracy: ±0.015% - Count Direction: Down - Alarm: Continuous Buzzer	4	unit	12,500.00	50,000.00			
	50	TWIN GAS MASKS	Includes a Speaking Diaphragm     Nosecap reduces Less fogging in Low temperature and High humidity conditions     Secured inturned Lip Seal	4	unit	12,500.00	50,000.00			
	51	NEGATOSCOPE X-RAY VIEWER	For Radiology Demonstrations:  - Two (2) - Slides/Triple Light Source (LED)  - Overall Length: 900mm  - Overall Width: 25-50mm  - Overall Height: 500mm  - Automatic Power Control (Lights On when Film is inserted and Lights Off when Film is Removed)  - Soft Touch Panel  - Excellent Color Temperature  - Work at DC24V uniform illumination through the whole screen  - Installation on Wall or Table  - Environment room luminance should not be more than 100Lux	4	unit	20,000.00	80,000.00			
	52	WALL MOUNTED OTOSCOPE	- With 3.5V Fiber Otoscope, 1 Set (2.7mm and 4.2mm, 5 pc. For each) or reusable specula - Single Wall Mounted Transformer Power Plug	1	unit	50,000.00	50,000.00			
	53	INFANT-PATIENT SIMULATOR	- Interchangeable genetalia, Realistic - Chest Cavity, Airway Management, Injection Training Arm, Umbilical - Catheterization, Intraosseous accsess and BVM w / realistic chest rise	1	unit	240,000.00	240,000.00			
						Sub-total, PhP	5,605,000.00			
					Total An	ount of ABC	9,047,044.67			